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かけ算のきまり 

かけ算のきまり その１ 

（基本） 

答えは２ページ 

 

 (   )にあてはまる 数をかきましょう。 

 

  ①２×３＝３×（   ）     ②３×５＝５×（   ） 

   

  ③６×８＝８×（   ）     ④４×７＝７×（   ） 

   

  ⑤９×８＝（   ）×９       ⑥７×３＝（   ）×７ 

 

 （   ）にあてはまる 数をかきましょう。 

 

  ①２×４＝２×３＋（   ）  ②４×３＝４×２＋（   ） 

 

  ③５×７＝５×６＋（   ）  ④８×６＝８×５＋（   ） 

 

  ⑤３×４＋３＝３×（   ）  ⑥６×７＋６＝６×（   ） 
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第１章 かけ算のきまり  

かけ算のきまり その１ 

答えは２ページ 

 （   ）にあてはまる 数をかきましょう。 

  ①２×８＝２×９－（   ）   ②４×５＝４×６－（   ） 

 

  ③３×５＝３×６－（   ）  ④６×５＝６×６－（   ） 

 

  ⑤９×２－９＝９×（   ）    ⑥８×６－８＝８×（   ） 

 

 □にあてはまる 数をかきましょう。 

  

  ①                   

             

                         

                          

   ②                   

             

                         

                    

７ × ８ 

２ × ８ ＝ 

× ８ ＝ 

９ × ６ 

７ ×      ＝ 

× ６  ＝ 

あわせて 

あわせて 


